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PART -1/ 9T - 1
GENERAL AWARENESS / AT SIS &1

ks According to the Economic Survey of India |
2022-23, the Gross Enrolment Ratio in schools |
has seen a decline in 2021-22 in comparison |
with 2013-14 for which of the following levels ? '

(a) Primar_\'
(b) Upper primary
() Socondary

Choose the correct answer from the codes
given below.

(1)  Only (c)
(2) Only (b) and (c)
(3) Only (a)

(4) Only (b)

2. Which of the following women’s hockey
teams won the Torneo del Centenario 2023
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(1) People’s Republic of China ,
l

(2) India g
(3) Spain ;
|
l

(4) England

O ; 0}
“HIN-2023 ,’g’% 2

ard & afdad wdam 2022-23 %
et © & fdl T 9T 2013-14 1 Fop
2021-22 H faenerdl # FFHA THFA AR 3
(a) wWgfHF !
(b) 39 WUEE

(c) WS

4 fau 70 F2 A TE IW F TG HIEC

(1), Fa4 (o)

(2) FE (b) 3R (c)

(3) Fad (a)

(4) = (b)

frafafaa ° A f&a afesn g 3W 3 3
o YA 2023 F1 fade s ?

(1) = 4Rl TR
(2) wrd

(3)

(4) ¥eiz



3. “Alamgir Nama’ is the chronicle of the reign | 3. * swermin mm’ fasfafoa i @ fam g amam

of which of the following Mughal emperors ? & A 1 3faem #2
)

(1)  Aurangzeb (1), =

(2) Bahadur Shah Zafar

(2) mq'{'m?w

| .
(3) Jahangir | 3) q—ﬁqrr
l
(4) Shah Jahan { (4) vEEl
l
|
4.  Which of the following is an example of a | 4. e 'qq A A YA G TF -
permanent executive in India ? | Fl TR & ?
(1) A Civil Servant 5 (1), @ TaF
(2) The Prime Minister of India % (2) ELIELE]
(3) A Central Cabinet Minister | (3) F=EE Ffaaz =16l
(4) The Governor of a State II (4) TSI 1 THIEA
5. In which country is the first ever Indian } 5. YA WEITER HE (AEAES) @ MG |
Institute of Technology (IIT) campus outside | are geel 9d fohm <u | wenfua feran smom 2
India going to be set up ? |
(1) Ghana ll (1) =F
(2) Nigeria ', (2) S
(3) South Africa | (3) e srfwam
(4) Tanzania | (4) st

EEE
FGT-HIN-2023 %& 3



4 p }
When an ant bites a human, what does 1t
mject mto the human skin ?

() Calamine solution
() Formic acid
() Sodium hydrogencarbonate

(H)  Zinc carbonate

|
I
l
|
|
!
l
l
|
|
Which of the following statements 1s correct |
in relation to the Right of Children to Free and |
Compulsory Education Act, 2000 (RFF) 2 |
|
(1) Nochild isdenied admission i a school '

according to this Act, for the lack of age |

proof.

(2)  The Act applies to the whole of India
except the state of Jammu and Kashmir.

defined as education from class 1 to 6.

(4) The Act provides for free education to

!

!

l

|

l

I

(3) Elementary Education in this Act is }
|

|

l

|

all children upto the age of 16. |
|
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10.

The longitudinal valley lying between lesser
Himalaya and the Shivaliks are known as

(1)  Kullus
(2)  Pir Panjal Range
(3)  Purvanchals

(4) Duns

Which of the following pairs of the places of
historical significance and the countries within
which they fall, is matched correctly ?

France

(I) Nuremberg

(2) Rivonia - South Africa

(3) Versailles Germany

(4) St. Petersburg England

Which of the following industrialists was l 10.

awarded the Padma Bhushan 2023 in the
field of Trade and Industry ?

(1) Adar Poonawalla
(2) Gautam Adani
(3) Mukesh Ambani

(4) Kumar Mangalam Birla

TGT-HIN-2023 &%

a femerm s formfers i v A e 2o
2icil A

(1) 97

H A & g e qaferd €2

(1) = - W

@) fafm - afym sEE
3) aEmE - AT

(4) He e - g

SR SR F&AM & & H a4 2023 F qgH YA

qreR freafafes #§ | fFa sammd #1 5em

fem &2

(1) R G
(2) T remi

(3) HeB SFAE

(4) FR HTE foen

R3



11.

PART - Il /9T - 11

REASONING ABILITY /
!
11.

In this question, a question is followed by two
statements numbered (I) and (II). You have ’
to decide whether the data provided in the '
statements are sufficient to answer the ’
question. Read both the statements and |

|
l
!
!

decide the appropriate answer.

How many students of class 11h have got
exactly 80% marks in Physics in annual ’

examination, if total number of students in |
the class is 80 ? ,
(I) 45 students of class 11" have got more }
than 80% marks in Physics in annual

examination.

30 students of class 111" have got less

than 80% marks in Physics in annual

(1)

examination.

(1) Either statement (I) or (II) alone is
sufficient to answer the question

(2) Both statements (I) and (II) together are

!
!
|
|
|
|
!
|
|
|
|
|
|
necessary to answer the question ;
|
|
|
|
|
|
l
|
|

(3) Statement (I) alone is sufficient while
(IT) alone is not sufficient to answer the

question

Statement (1I) alone is sufficient while
(I) alone is not sufficient to answer the

()

question

3
3T-HIN-2023 &% 6

e e H, T T F A (1) 3 g
T mwmm?ﬁﬁmﬁﬁmf
37 e 1 T T T A | g

ufanaffzﬁaﬂﬁmﬁfﬁgmmso%’ﬁ?
> fra ol A afE e d ifeE § e
80% i W fFT €2

-

o 1151 3 45 Fraei % i s
wifaess faam # 80% # 3ifue siF
e '

M

11 i e 3 30 Ferenfeldi 1 it v
¥ siifae fagm d 80% | &9 37F fii g

(1)

(1) =@ FE A (1) T T ()
¥ 1 S o & fag wYA (I)mf(ﬁ)l
<Ml I TH WY FEAEHA &l

(3) 3TRA FUA (1) Tt & srafs s )
U 1 SR ST F e i el

e Fo (1) T § s T

(4)
T F IR 23 ¥ ferd watE T e



12.

13.

Three statements have been given, which are
followed by two conclusions (I) and (II).
Assuming that the given statements are true,

find out which of the conclusion(s) is/are
definitely true.
Statements : P<T, ¥ oW, PeY
()

(1)

Conclusions : W<P

T>Y
(1)
(2)
(3)
(4)

Both conclusions (I) and (II) are true.
Neither conclusion (I) nor (II) is true.
Only conclusion (I) is true.

Only conclusion (II) is true.

In this question, three statements are given,
followed by two conclusions numbered

(I) and (11). Assuming that the information
given in the statements are true, even if they
seem to be at variance with commonly
decide which of the

known facts,

conclusion(s) logically follows/follow from

Statements :  All caps are socks.
All frocks are masks.
All masks are socks.

Conclusions :

l
I
I
I
l
l
l
|
|
I
|
l
l
|
l
|
the statements. i
|
l
|
|
!
I
|
|
|
!
I
|
|
l
|

() Some frocks are caps.
(II)  Some masks are caps.
(1)  Both conclusions (I) and (II) follow
(2)  Neither conclusion (I) nor (II) follows
(3)  Only conclusion (I) follows
(4)  Only conclusion (II) follows
oL 0]
TGT-HIN-2023 ?—E‘ﬁ 7
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& Fa fau mu ¥, forrm A @ fed (1) A1
(11) fem 7 & 7 wra g fa fan e we
%qmmfa:mmm)ﬁvmdﬁfmmﬂ
TAE (8) |

FHUA P<T, Y>W,P2Y
frerd . ()

(In
(1) e (1) s (1) 2 @ 7§
) 3@ foepd (1) 3 @ (1) FA €
(3) aa frewd (1) 71 8

@) FHae fwwd (1) 7 €
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T#X

mmif i e fau o € e = & freed
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frrend :

() &2 WiH 2 §)

(1) Fo q@re 2 &)
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(2) ;éﬁmﬁﬁ(l)ﬁhaaﬁm(n)m

|
(3) waa fmRd (1) feem &)
4) Faa fed (1) frem 21



14. Study the given diagram carefully and | 14.
answer the question. The number in different
sections indicate the number of persons in an
area who buy different magazines.

Champak

Sarita 13 Q

16
Nandan

What is the number of persons who buy both

Champak and Nandan but not Sarita ?

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!
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|
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i
|
|
|
|
|
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15.

16.

A + B means ‘A is the father of B’
A =B means ‘A is the mother of B
A X B means ‘A is the sister of B’
A+ B means ‘A is the brother of B’

Based on the above, if ‘'S-G+T-MxP+R’,
then how is ‘S related to ‘P’ ?

(1)  Father’s mother
(2) Sister
(3)  Mother

(4)  Mother’s mother

Eight girls G, K, P, A, D, Q, Sand M are sitting
around a square table but not necessarily in
the same order. Four of them sit at four
corners of the table while four sit in the
middle of each of four sides. The one who
sits at the four corners face outside the center
while those who sit in the middle of the sides

face inside.

‘Q’ is sitting at one of the corners and she is
third to the right of ‘K. “A” is not sitting at
any of the corners. ‘P’ is sitting second to the
left of ‘K’ and immediately right of 'S". ‘K’
and ‘D’ are facing each other. Who is sitting

immediately left of ‘Q"?

() K
2 G
3 D
4 A

0[340)]
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A+BF 3 A, B fam 2
A-BHF s & A, BHI T &'

AxBa 3 & A, BE A &’
A+BE A4 T A, BEH E &'

I MR T, AR S-G+T-MXP+R
ﬁ'S’,'P'ixmmﬁdﬁm%?

(1) foan &t =
(2) @A
(3)
(4)/ | A

a8 wefFal G, K, P, A, D, QS XM TH
TR T % TR 3R 431 € afea e 1@l fE
= W 1 B | S AR A AR Wl
$ S W) TS % TR s & e H a8t €
N TR FE W A € S q@ HE Y el B
3R & wEfE S yenell % "1 H 931 € I q@
3T & 3R T

Q' forl v FH W AS € oM G ‘K F I A
T A W A TR o @ WA adt ')
P,K S aT ST gE T W SRS F S
T A3 T K WD TE TR E @ TN Q’
& T AU &M 931 7 2

() K
2) G
(3, D
4 A



Two statements are

Assertion (A) and Reason (R)

Assertion (A) :

Government of India has banned more than

10 vears old Diesel Vehicles on the roads of
Delhi

Reason (R) :

Diesel prices have increased i the past few

Voars

Select correct answer with the help of code.

(1) (A) s true but (R) 1s talse

(2)  (A) s false but (R) 1s true

(31 Both (A) and (R) are true and (R) 1s
correct explanation ot (A)

(4) Both (A) and (R) are true but (R) 15 not

correct explanation of (A)

Tanva wears T-shirts of seven different

colours Red, Green, Yellow, Blue, Purple,
Orange and Magenta on seven different dayvs
of the week starting from Monday. She wears
green T-shart on Thursday. She does not wear
vellow or purple colour T-shirts on Friday.
She wears red colour T-shirt after the green
colour T-shirt. She wears only purple colour
T-shirt on the day between the days on which
she wears Blue and Magenta colour T-shirts.
She wears orange colour T-shirt after yellow

colour T-shirt.

On which day she wears orange colour
T-shirt ?

(1) Saturday

(2) Wednesday

(3) Tuesday

(4) Sunday
O]340,
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18.

gy @ aa fao o & frd s () 4
w‘k(k)frf‘-?afmmn?u ‘
sifararad (A) ¢

arry weE A freedl TR T 10T A o
Wﬁa’mamﬁfmaﬁﬁurm@g,

A (R) :
Wﬂmnmﬂmmﬁl

F7 F1 TP A W@ T F TR
(A) T7 7 77 (R) T 2

(1)

(2) (A) TA 2 W(R)’T’T?I

(3) 2 (A) A7 (R) 74 & 47 (R), (A)ma
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\
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19. Bhairav started from his home and travelled I 19. RE A T T A YHEAT F 3frt 50 et 74 gl

50 meters towards East then turned to his l
right and travelled 150 meters from there he !
turned to his left and travelled 100 meters to '
reach a temple. From the temple he moved

250 meters towards North and then turned

left and travelled 100 meters. Finally, he |
turned to his left and moved 100 meters to '
reach a point ‘P’. What is the direction and |

shortest distance of his home from the point }
P

(1) North, 150 meters
2)  West, 50 meters
: (3) East, 100 meters

(4)  North - East, 90 meters

20. If the first half of the following sequence is

made second half, which letter/number/

the left of the fifth place from the right end ?

!
I
I
|
|
l
!
|
!
|
!
!
!
|
|
l
symbol will come at seventh place towards %
|
|
LXK 1L U,A,S59H2T: %9@;1:# |
|
|
l
|
!
|
|
|
|

(1) #
) 1
@3 U
# @
El\ ®
GT-HIN-2023 P&t 11

20.

R AT FY R 3 afedt 9 qget 150 HieX
AT F | el | A A 3 g 3 v Hi
qF TEA % e 100 HiZt F A A Tife |
a 250 el I F AR Fen i fe A R
et 100 HIZX Fell | afq H 9% 1o A 3R
g@aﬁzﬁg'vm@#fmmomml
'ﬁg'vﬂmmaﬁﬁmaﬁtwﬁw%?

(1) 3, 150 HIK
(2) v, 50 Hi
(@) 9, 100 HX

(4) SW-TE, 90 HIK

Afe frefafaa SR % Tgel 38 S 6 gEl
s o fean S, 9 9N A uiEd W©H F
AR SR T T W A st/ den/ e
3 ?

LXJLKLLUAS59H2T%9@,1,#

R¢

L
-



21.

PART - 111 / 97T - 11
KNOWLEDGE OF ICT/ ICT &1 &1

Out of the following, which software you | 21.
suggest most to develop and present a

multimedia presentation on Cyber Security ? |

(1)  Microsoft Word

(2) Microsoft PowerPoint

(3) Microsoft Edge

(4) Microsoft Excel

22.  The computer hardware device Switch is an |

example of :

(1) Networking device
(2) Output device
(3) Input device

(4) Storage device

23.  Which of the following is the least threat for

virus infection ?

(1) Downloaded free software

(2) Downloaded email attachment

(3) Online printer

(4) Portable storage devices

®
TGT-HIN-2023 2%
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|
!
|
|
|
|
|
|
|
|
|
l

|
!
|
l
|
!
!
|
|
|
|
f
|
!
|
|
|
|
|
|
|
|
l

12

FrEaT g & wau H T w3
(Multimedia Presentation) I 31‘]-{ =3
¥ fern am frefafad ¥ 4 feg m
i & g < ? 2

(1) HZHIAR g (Microsoft Word)

PowerPoint)

(3) HEEEEE T (Microsoft Edge)
(4) TEHIETTRE T (Microsoft Excel)

e eréae fearsa feaa (Switch) T Ty

(1) Jezafdn fearmd (Networking dewce).}«;
.§
by

(2) 9m3eqe feard (Output device)

(3) %92 fear=d (Input device)
(4) TR feard (Storage device)

software)

(2) TSRS -9 deaHe (Downloads

email attachment)

(3) AT f§2T (Online printer)

}
F,
¥
|
!

(4) UrdEa =i feaw® (Portable storag

g

devices)



25.

Which of the following set contains only | 24.

inpul devices ?

(1) Printer, Speaker, Monitor
(2) Keyboard, Mouse, Printer
(3) Keyboard, Mouse, Scanner
(4) Printer, Scanner, Speaker

Select the shortcut key, out of the following,
which is popularly used to paste a selected
(and copied) text or image in most of the
MS Office applications.

(1) Ctrl+X’
2) Ctl+z’
(3) Ctl+P’
4) Ctl+V’

Which type of network, generally we
establish, when we connect 20 computers in
our school’s computer lab, using some
additional networking devices and wired
cable ?

(1) MAN
(2) WAN
(3) PAN
4) LAN

EI‘ O]
GT-HIN-2023 %‘&
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|
|
|
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!
l
|
I
l
|
|
|
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|
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|
|
|
!
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|
|
|
!
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|
!
|
|
l
|
|
|
|
|
i

13

25

26.

frfafad o 7 /g wge | wae e fzana

€7

. q - ”
(1 fues, oirart, "2 (Printer, Speaker,
Monitor)

" M
(2) @®i-ars, wrzE, f92T (Keyboard, Mouse,
Printer)

(%)/ F1-ATE, A3H, THA (Keyboard, Mouse,

Scanner)

(4) fgzy, TFTT, PAFT (Printer, Scanner,
Speaker)

Aferrion TH. T SAEY TEFHIA § 0F Helles
(Td FHT) THZ A THS & UL (paste) FLA
% fau fr=fafea 5 9 fF3 weae-1 (Shorteut

key) 1 FaifueF wam faan S &2
1) Cul+'X
2) Cul+zZ
(3) Ctl+'P
(4) Cul+'V’

@ &1 Fo Afaiem Jeafdn feary iR am
Hae TN Hh 319 el Tl g od |
20 FPIE F1 &N § Sed ¥ wmeEn o
fFa g&R &1 F2a& (Network) Wffqﬁaﬂ'a%")

(1) TALT. (MAN)
(2) IHYTLT. (WAN)
(3) WTT. (PAN)
(4) TATTA. (LAN)

R3



27.

28.

29.

Arrange the following memory units in
ascending order of their capacities.

Giga Byte, Kilo Byte, Mega Byte, Tera Byte ;

In computer terminology, https stands for :
(1)  Hyper Text Transfer Protocol Scheme
(2) Hyvper Text Transfer Protocol Storage
(3) Hyper Text Transfer Protocol Server

(4) Hyper Text Transfer Protocol Secure |
Which of the following is not an example of |
web browser ? |
(1) Edge |
(2) Firefox |
(3) Android g
(4) Opera |

(1) Kilo Byte < Giga Byte < Mega Byte <
Tera Byte |
(2) Kilo Byte < Mega Byte < Tera Byte < |
Giga Byte l
(3) Giga Byte < Kilo Byte < Mega Byte < |
Tera Byte l
(4) Kilo Byte < Mega Byte < Giga Byte < :
Tera Byte
30. Which of the following is not a popular file
extension of an audio file ?
(1) wav
(2) flac
(3) mp3
(4) pdf

El_@. O]
TGT-HIN-2023 %%ﬁ
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27.

28.

29.

30.

]
FrogeX F1 W H, https 1 A4 ¥ ;
(1) TE9 2R ZIHF WA T (Hypel
Text Transfer Protocol Scheme)
(2) TEH 2 FAE W RRA (Hyp
Text Transfer Protocol Storage)
(3) ET T FEE MR FAT (g

Text Transfer Protocol Server) .
(4)/ FER T2 ZAE A e (g L

Text Transfer Protocol Secure)

freifafiad # 9 B | 99 T35 (web browse)
&1 T IaTE T € ? v
(1) T (Edge)

(2) HETHE (Firefox)
(3) - ugsHs (Android)
(4) U (Opera)

frefafaa Tt gfael o1 3Tt amar (2
& AR TR A H Fafeerd g |

Giga Byte, Kilo Byte, Mega Byte, Tera B ‘_

(1) Kilo Byte < Giga Byte < Mega ‘f}
Tera Byte '

(2) Kilo Byte < Mega Byte < Tera Byte <
Giga Byte '

(3) Giga Byte < Kilo Byte < Mega Byte B

Tera Byte g

(4)~Kilo Byte < Mega Byte < Giga Byte
Tera Byte 4

ﬁwﬁf@aﬁﬁﬁ?m@aﬁﬁtﬁwmf

file) 1 TAIHTIA W THISYH (extension) T
2 3 :
(I) wav "
(2) flac

(3) mp3

(4),. pdf
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PART - IV / 4T - IV
TEACHING APTITUDE / feror aifmgf

Which one of the following is least likely a
factor affecting learning ?

(M
(2)
(3)
)

Readiness
[ AN "
Co-curricular activitie 4
Imitation s
\
Maturation i

Which kind of ICT tools is notuseful in learner

Constructive

(1)
(2)
A3)
(4)

Identify the statement w ‘hich is not correct :

Communicative
Informative

Situating

(1) Matching type of item is a form of
multiple choice item.
Every supply type ltem can be

converted into selection h pe of item.

|

|

l

|

J

l

l

|

centred approach ? () |
I |
l

I

|

!

!

l

!

|

!

!

(3) Extended responscltemman essay type |
item. 4 ,
(4) Objective type of items are more i

preferable in measuring creative ability |
of the students. L) |

Which one of the followi mg is not associated

with unit test ?

>

(1) Use of standardised achievement tests. ;
(2) Results shared with parents. |
(3) Confined to limited number of '
competencies. ~ I

(4) Totally controlled by the teacher. |
A creative student is one w‘ho l’ms l
(1) Memorization ablllt) '! }
(2) Ability to solve probles) I
(3) Originality and flexlbg:%of ideas |
(4) Above average 1Q N |

0[340)]
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31,

32.

3

fomifaa 6 @ A0 T weE s w A
yanfera e ¥ 2

(l) dcic

(2) e g fopmmd
(3) IFEIM

(4), frrE

fepg wepT o A A e e fanndt
3feza 3re # A T w2

(1) TS
(2) HIATUIE
(3) AAHE
(1), frmmarE

g1 e qEAAT S A A
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36.

37.

38.

39,

40.

Which principle of playway method helps in

cultivating, sell discipline ?

(1 Principle of creativity

(2) Principle of r('spnmihilily

(3)  Principle of complete freedom

(4)  Principle of activity

Complete the stateme nt :

In teaching if nothing has been learned,

nothing has been

(1) examined

(2) observed

(3) taught

(4) studied

Which is not an advantage of integrated
textbooks ?

(1)  These may not suit student’s individual

learning styles.
(2) Such textbooks provide support to
inexperienced teachers.

(3)  Textbook can be used as a syllabus,
(4)  These provide readymade materials.
A teacher first tells the rule and principle and
then cites examples to explain the concepl.
Which approach she/he is adopting ?

(1) Explanatory

(2) Investigatory
(3) Inductive
(4) Deductive
Which one of the following is not a
characteristics of “Assessment for

Learning ? 3

36,

37,

38.

(1) ltis judgmental and hcnce evaluative.

(2) It provides continuous fee odback.

(3) It helps in identifying e(rcn;'thq and
weaknesses of every sludent

(4) Itallows students to roﬂdct _upon their
work so as to take specnhc -actions to
improve upon. Lf }

LN
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R5.

3.

PART - VI

Choose the sequence in which the following
words/phrases can be rearranged to form a
correct sentence.

(A) whether

(B) be true

(C) she

(D) it could

(E) w ondered

(1)/ ©) (E) (A) (D) (B)
2 D) E)( A) (B) (€) »
3) (B (© (D) (E) (A)
@) (&) (D) (E) (B)(©)

. Identify the part of the sentence that has an

error in it.

This is the only one of his novels that are

(D) (B) ©)
not worth reading .
(A)
(1)~ (©
(2) (D)
3) (A)
4) (B)

Identify the Tense in the given sentence
Ram should have gone to the market
(1) Future Indefinite

(2) Present Perfect~

{‘.. .

(3) Past Indefinite N

(4) Past Perfect ¢ 1)
0]
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128.

130

Choose the word nearly slmllnr in meaning,
to the given one.

COURAGE
(1) Hesitation
(2) Cowardice
(3) Fortitude
(4) Virtue

Choose the option which nearly means the
same as the underlined idiom.

He bids fair to rival his father as a lawyer.

(1) trying very hard

GENERAL ENGLISH

21-122) Fill in the given blanks with correct i 126.
ptions.
p1. Bread and butter to be priovidcd.

(1) have J

(2) are going

(3) are

(4)/ has
b2, | your letter yesterday. 127.

(1) had received,

(2) would receive !

(3) received

(4) have received i

(2) seems likely
(3)  much opposed
(4) not qualified

Choose the word nearly opposite in meaning
to the given one.

DAMAGE
(I) Compensation
(2) Wrong
: Rupture
(4) Mayhem

29. Choose the option in which VOICE in the

given sentence has been changed correctly.
Who is knocking at the door ?

(\9/ St_v?whom is the door being knocked
(2) The door is knocked at by whom ?

(3) By whom is the door being knocked ?
(4) By whom is the door being knocked at.

. Fill in the blank in the given sentence by

choosing one of the given options.

Copper is useful metal.
(1) the

(2) no article

3) a

(4) an

R3
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